Chem 130 Balancing reactions Humphry

1) ____HNOs(ag)+____ NasCOslaq) —>___ NaNOs(aq) + ____ CO,(g) + _____ H,0())
2) ___ Pb(NOs)y(aq) + ____ Nallag) — _____Pbly(s) + ____NaNOs(aq)

3) __ CO,g) +___ HOf) —> ___ CeHy,0¢(aq) + 0,(9)

4) ___ CO(g) + 0(g) — > ____COa(g)

5) ___ Fey0s(s) + H,S0,(aq) —> _____H,0(l) + Fe,(SO.)s(aq)

6) ____ CHsSH(aq) + _____CO(aq) — ____ CHsCOSCH(aq) + ____H,S(g)

7) __ H.S(ag) + ____ CO(aq) —> ____ CHsCO,H(aq) + ___ Sk(s)

8) ___ FeSiOs(s) + HO(/) — ____ FesSi,05(OH)y(s) + H4Si04(aq)

9) _ FeSiOus) + ___ COy(g) + ___ H,O() — ___ FeCOs(s) + ____ HuSiO4(aq)
10) __ FesSi,Os(OH)a(s) + __ CO,(g) + ___ H,0()— ___ FeCOs(s) + ____ H,SiO4(aq)
11) __ CHalg) + ____ H0(g) —> __ CO(g) + ___ Hi(g)

12) ___ NHs(g) — ___ Ny(g) + Ha(g)

14) ___ CO(g) + ____H,O(g) — > ___COy(g) + ___ Halg)

15) ___ SOs(g) + ___ 0Oa(9) —> _ SOs(g)

16) _ H.S(g9) + ___ 0ag) =™ ____SOy(g) + ____ H,0(g)

17) HS(g) + __ SO5(g) —> ____ Ss(s) + ____ H,0(g)

18) _ Alls) + __ KOH(ag) + ___ H,0()—> ____ KAI(OH),(s) + Ha(g)

19) _ Cu,0(s) + ____ Cu,S(s)—> ____ Cu(s) + ____ SO,(g)

20) __ Cu,COs(OH)y(s) + ___ C(s)—> ___ COy(g) + ____ H,0(g)

21) Solid dinitrogen pentoxide reacts with sodium metal to form solid sodium nitrate and nitrogen dioxide gas.

22) Nitrogen monoxide gas decomposes to dinitrogen monoxide and nitrogen dioxide gases.
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23) CsHis(g) + 0,(g) —> ____COi(g) + ____ H,0(g)

24) __ Au(s) + ___ NaCN(aq) + ____ 0,(g) + ____ H,0() —____ NaAu(CN),(ag) + _____NaOH(aq)
25) __ HF(g) + ____ NaAlOy(s) ™ ____ NasAlfg(s) + ___ H,O()) + ____ AlLOs(s)

26) ___ FeSy(s) + Fe,P(s) —> PiSiols) + ___ FeS(s)

27) Gaseous uranium(IV) oxide reacts with aqueous hydrofluoric acid to form uranium(1V) fluoride gas and liquid
water.

28) Chromium metal can be produced by reacting solid chromium(lll) oxide with molten aluminum to form molten
chromium and solid aluminum oxide.

29) Sodium chlorate (a solid) decomposes when heated to yield solid sodium chloride and oxygen gas.

30) _ CaGy(s) + H,O(/) —— ___ Ca(OH),(aq) + C,H,(g)

31) _ GHeO(aq) + __ Oy(g)—> ___ CH4O(aq) + ___ H,O(/)

32) _ GiHgNy(s) + _ NyO4(f) — Na(g) + _ CO,(g) + ___ H,0(g)

33) _ CoS(s) + ___ CO(g) + ___ Cu(s)—>___ Co,(CO)g(s) + ___ CuyS(s)

34) _ Ruly(s) + __ CO(g) + __ Ag(s) /> ___ Ru(CO)s(s) + ___ Agl(s)

35) _ (s) + ___ NopH4()—> ___ Hl(g) + __ N(g)

36) ___ Au(s) + ____ H,SeO4laq) —> ____ Au,(SeO,)s(s) + ____ H,SeOs(aq) + ____ H,0(/)

37) Metallic silver reacts with dihydrogen sulfide gas and oxygen gas to form solid silver(l) sulfide and liquid water.

38) _ CO(NH,),(aq) + ___ HOCHag) —/>____ NCly(aq) + _____ CO,(aq)+ ___ H,0O())

39) _ BCI() + ___ Hy(g) — B(s) + HCl(g)

40) Solid diboron trioxide reacts with graphite and chlorine gas to form liquid boron trichloride and carbon
monoxide gas.
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Soutions. Numbers correspond to coefficients in each blank

For example, for problem 2:

1+2— 1+ 2corresponds to Pb(NOs),(aq) + 2Nal(aq) — Pbl,(s) + 2NaNOs(aq)

Typo
1+2->1+2
6+6>1+6
2+1->2
1+3>3+1
Typo
8+8—>4+1
3+45>1+1
1+2+2>2+1

.1+43+425>3+2
.1+41->1+3
.2>1+3

.1+1->1+1

L2412

.243>2+2
.16+8->3+16
.2+2+6>2+3
.2+156+1

. Typo

. N,Os + Na - NaNO;3; + NO,
. 3NO = N,0 + NO,

. 2+25->16+18
.4+48+1->2+4+4
.6+3>1+3+1

. 18+4-5>1+26

. UO, + 4HF - UF, + 2H,0
. Cr,0; + 2Al = 2Cr + Al,O3
. 2 NaClOo; = 2NaCl + 30,
.1+42>1+1
.1+41>1+1
.1+42->3+2+4
.2+8+4>1+2
.1+5+3>1+3
.2+1>4+1
.2+6>1+3+3

. 4Ag + 2H,S + O, - 2Ag,S + 2H,0
.1+46>2+1+5
.243>2+6

. B,Os+ 3C + 3Cl, - 2BCl; + 3CO
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